o

S
L
.
o

.
;
.
.
o

G e o e R NG R o S B T TSI I —— s O—
Yo E i e e . e e T R 2o o e

. = - Y _
- - - - .. @ . -
- . . o -
-

.
.

- . - . - . - -

> . .. ... __ _ . - = .

. - .. - - ... . . _ . . . - .
> . o - o .. _ - . .

.
\53

-

.

v

- - .
- - - - . o s
- . . - . . . s e
- = Cl e - . ... . . .
. - . e . - - . e -
- . ... . «%‘@W,& - - - ﬁz«%f/f,«w&n .

- = - . . - - Lo s o .
- - - . - - = . - -

.

- .

-

i o

- . .
. - - - . - »

o

:
. >
o e - :
- .

.

|

.
L
.
gg\;\

-

. .

0 o v
L - ..

L - .. . .
.

-
%}.
.
-
-

.

o i

= - !
- -
. - .
- - - -

.
o o = / ey

- = L s o smmm umads eyl S T L B e

- . . - o o ... .

- e ... . - ... - - s e

o
‘2
.
.
g

.

.

.

o L

o
e

o

.
.

- -

- . - L
.. - .. - - -
- ~ . - .. ... . - ...
.. . . S - s e e

i

L

-
.

-

.
=
- -

- . - - . .

. - . - . - . . . -

. . . . - = . -
- . = . = - . "

- .
-

- o . - - >
. - - - .
. . .

. e

o
.

-

w

-

-

o

. . . e -
-

.
v . o

L

- - o

- s - _ = - - [
L e - - o

sute O D B et 0 U e nifie ettt 8 e - .
. = . @ ... . . o

-
-
i
&

.
3‘:»

e

.

.

-
.

.
- - - . -
. . -
~ -

- . - -
- .
- . = -
.

.

-

.

o

.
. -
oo

.

@
-
o

o
.

o
.

8
.
o

.

.
-
,
.

%

‘
?a o
.

.
o
-
&

-
.

o
«%3‘.»3

.

-

.

(

- - .
- .

-
.
Q

L

%

-

.
.
-

.

i
- o
s

‘

L e -
- - . - . - - .
- . - .

o

.

.

.
- - -

. = e
. -

.

' v - -
- . - v - . ... . __ _
- . - . o

o

- . .

.

o S - s e
= . - . ..
- . . v ... . . .

-
. - -

- =
- o e %
. . L

- - .

- .

- L o -

-
-




The Ohio Department of Education does not discriminate on the basis of race, color, national origin, sex,
religion, age, or disability in employment or the provision of services.

Copyright © 2017 by the Ohio Department of Education. All rights reserved.




Directions for Completing the Response Grids

1.

2.

Work the problem, and find an answer.

Write your answer in the answer boxes at the top of the grid in
the Answer Document.

* Write only one digit or symbol in each answer box.

« Be sure to write a decimal point, negative sign or fraction bar
in the answer box if it is a part of the answer.

Fill in a bubble under each box in which you wrote your answer in
the Answer Document.

* Fill in one and ONLY one bubble }Answer boXes
for each answer box. Do NOT fill .
in a bubble under an unused 9888886% ';'@%ﬁgxebi‘]?”
answer box. OOOOOEO® +Decimal point
00000 CN
* Fill in each bubble by making 8888888
a solid mark that compiletely fills 00000006
the circle. %%%%%%% _ Number bubbles
* You MUST fill in the bubbles %%%%%g%
accurately to receive credit
for your answer. CREEEEE |




POEEEEEEEE
QOOEOEEEEE
POOEOEEEEE
POOEOOROEE
POEEOEEOEE
POEEROPOEE
PCOOOOOEOEE

15(.15
OOV

0/0/0/0/0)
00 [0/0/0/0]

decimal (15.5)

c. An equivalent

POEEOEEOEE
POEEOEEEOEE
POEEREEOEE
POOCPEEOEE
CICICIOICICICICIONC)
POCEOOEOEE
POOOO®OOEE

D@ODD
©/0/0/0/0/0/(O]

OO

fraction (31/2)
3| 1/|2

POOEREEEO®E
POOOOEOEOEE
CICICICICIOIOICIONE),
POOOOOEOEE
OO
POOEEHOVOEE
COOEOOEOEE

11712

1156
COOORIO

a fraction (15 1/2).
Be sure fo include
a space between
the whole number
and the fraction.

0/ojo] 10
©0/0/0/0/0/0/O]

a. Awhole numberand | b. An equivalent

You can record a mixed number in several different ways. You can write it as:




Directions:

Today you will be taking the Ohio Geometry Practice Assessment.

There are several important things to remember:

1.

Read each question carefully. Think about what is being asked. Look
carefully at graphs or diagrams because they will help you understand
the question. Then, choose or write the answer you think is best in your
Answer Document.

Use only a #2 pencil fo answer questions on this fest.

For questions with bubbled responses, choose the correct answer and then
fill in the circle with the appropriate letter in your Answer Document. Make
sure the number of the question in this Student Test Booklet matches the
number in your Answer Document. If you change your answer, make sure
you erase your old answer completely. Do not cross out or make any marks
on the other choices.

For questions with response boxes, write your answer neatly, clearly and
only in the space provided in your Answer Document. Any responses
written in your Student Test Booklet will not be scored. Make sure the
number of the question in this Student Test Booklet matches the number
in your Answer Document.

If you do not know the answer to a question, skip it and go on to the
next question. If you have time, go back to the questions you skipped
and try to answer them before turning in your Student Test Booklet and
Answer Document.

Check over your work when you are finished.




1.

Circle J is located in the first quadrant with center (a, b) and radius s. Felipe
transforms Circle J to prove that it is similar to any circle centered at the origin

with radius t.

Which sequence of fransformations did Felipe use?

A. Translate Circle J by (x + a, y + b) and dilate by a factor of 'i"
B. Translate Circle J by (x + a, y + b) and dilate by a factor of %
C. Translate Circle J by (x —a, y — b) and dilate by a factor of %

D. Translate Circle J by (x — a, y — b) and dilate by a factor of ~5f—

Go to the next page




This item cannot be rendered as a paper/pencil item.

This item cannot be rendered as a paper/pencil item.

This item cannot be rendered as a paper/pencil item.

Go to the next page




5. Francisco asks the students in his school what pets they have. He studies
the events shown.

* Event S: The student has a cat.
» Event T: The student has a dog.
Francisco finds that the two events are independent.

In the Answer Document, select all the equations that must be frue
for events S and T.

A. P(S|T)=P(S)
B. P(S|T)=P(T)
C. P(T|S)=P(S)
D. P(T|S)=P(T)
E. PSUT)=P(S)P(T)
F. P(SnT)=P(S)-P(T)

Go to the next page




6. A teacher draws circle O, ZRPQ and 2ROQ), as shown.

P

The teacher asks students to select the correct claim about the relationship
between m£ZRPQ and m4ZROQ.

e Claim 1: The measure of ZRPQ is equal to the measure of LROQ.
« Claim 2: The measure of ZROQ is twice the measure of LRPQ.
Which claim is correcte Justify your answer.

Write your answer in the Answer Document.

This item cannot be rendered as a paper/pencil item.

Go to the next page




Given: ABCD is a parallelogram with diagonal AC.

Prove: £BAD = ~DCB

Proof:

Statements

ABCD is a parallelogram with diagonal AC.

Given

AB || CD and AD Il BC

Definifion of parallelogram

12=/3
L]l =24

Alternate interior angles
are congruent.

ms2=ms3 and ms1 =ms4

Measures of congruent angles
are equal.

msl +ms2=ms4+msL2

Addition property of equality

MLl + msL2=ms4 + m~L3

e

ms1l + ms2 =m4sBAD
ms3 +ms4=msDCB

Angle addition postulate

m~ZBAD = m£DCB

Substitution

/BAD = «DCB

Angles are congruent when
their measures are equal.

What is the missing reason in this partial proof?

A. ASA

B. Substitution

C. Angle addition postulate
D.

Alternate interior angles are congruent.

| Go to the next page




9. Which diagram shows only the first step of constructing the line perpendicular
to AB through point P2
PN
A e ® ® B. @& ® °®
A P B A P B
>
O
C. e I ¢ \ ® D. e { ® \ ®
A \ P | B A \ P | B
=

Go to the next page




10. Parallelogram ABCD is shown. Point E is the mldpom’r of segment AB. Point Fis
the midpoint of segment CD.

A

Y
>

Which transformation carries the parallelogram onto itselfe

A. a reflection across line segment AC
B. a reflection across line segment EF
C. arotation of 180 degrees clockwise about the origin

D. arotation of 180 degrees clockwise about the center of the parallelogram

Go to the next page




- -
- _ - .- .

11. Square ABCD is transformed to create the image A'B'C'D', as shown.

Y
>

A

In the Answer Document, select dll of the fransformations that could have
been performed.

a reflection across the line y = x
a reflection across the line y = -2x
a rotation of 180 degrees clockwise about the origin

a reflection across the x-axis, and then a reflection across the y-axis

moo® >

a rotation of 270 degrees counterclockwise abouf the origin, and then
a reflection across the x-axis

Go to the next pag




This item cannot be rendered as a paper/pencil item.

13. A cross section of a right triangular prism is created by a plane cut through
the points shown and is also perpendicular to the opposite base.

|
|
H
+
|
|
1
|
|
-~

What is the most specific name of the shape representing the cross section?

A. ftriangle
B. rectangle

C. frapezoid

D. paradllelogram

Go to the next page




This item cannot be rendered as a paper/pencil item.

16.

This item cannot be rendered as a paper/pencil item.

|
l
|
s
.'
5



Do not go on

;
|




-

-

W

e
.

Do not go on




1.

Line segment AC has endpoints A(-1, -3.5) and C(5, -1).

Point B is on line segment AC and is located at (0.2, -3).
What is the ratio of BACE?

Complete the response grid in the Answer Document.

Triangle ABC has vertices at (-4, 0), (-1, 6) and (3, -1).
What is the perimeter of triangle ABC, rounded to the nearest tenth?

Complete the response grid in the Answer Document.

This item cannof be rendered as a paper/pencil item.

Go to the next page




4.

5.

o0 w >

Kyle performs a transformation on a friangle. The resulting triangle is similar
but not congruent to the original friangle.

Which transformation did Kyle perform on the triangle?

dilation
reflection
rotation

franslation

Triangle ABC has vertices A(1, 1), B(2.5, 3), and C(0, -3). It is dilated by a scale
factor of 12- about the origin to create friangle A'B'C'.

What is the length, in units, of side B'C'2

Complete the response grid in the Answer Document.

This item cannot be rendered as a paper/pencil item.

Go fo the next page




—
1 block

Workplace

Jane wants to determine the shortest route from her home to her workplace.
She walks only on the sidewalks indicated by dotted lines on the map.

What is the distance of the shortest route, to the nearest whole block?

Complete the response grid in the Answer Document.

Go to the next page




This item cannot be rendered as a paper/pencil item.

9. Two events, A and B, are independent.
« P(A)=03
e P[AandB) =024
What is P(B)2

Complete the response grid in the Answer Document.

10.

This itfem cannot be rendered as a paper/pencil item.

Go to the next page




11. Sam is picking fruit from a basket that contains many different kinds of fruit.

Which set of events is independente

A. Event 1: He picks a kiwi and eats it.
Event 2: He picks an apple and eats it.

B. Event 1: He picks an apple and eafs if.
Event 2: He picks an apple and eafs it.

C. Event 1: He picks a kiwi and eafs it.
Event 2: He picks a kiwi and puts it back.

D. Event 1: He picks a kiwi and puts it back.
Event 2: He picks an apple and puts it back.

12. The probability of flipping a fair coin and heads landing face up is 0.5. The
probability of rolling a fair number cube, with sides numbered 1 through 6,
and an odd number landing face up is 0.5.

What is the probability of flipping heads or rolling an odd number?

Complete the response grid in the Answer Document.

Go to the next page




This item cannot be rendered as a paper/pencil item.

14.

This item cannoft be rendered as a paper/pencil item.

15.

This item cannot be rendered as a paper/pencil item.







Ohio State Test Reference Sheet High School

1 foot = 12 inches

1 yard = 3 feet

1 mile = 1,760 yards

1 mile = 5,280 feet

1 mile = 1.609 kilometers
1 inch = 2.54 centimeters
1 kilometer = 0.62 mile

1 meter = 39.37 inches

_ opposite
sinA =
hypotenuse
adjacent
COSA =
hypotenuse
opposite
tan A = ip————
adjacent

1 pound = 16 ounces

1 pound = 0.454 kilograms

1 kilogram = 2.2 pounds

Trigonometry

X 145°

X2

45°

X

1 cup = 8 fluid ounces
1 pint = 2 cups

1 quart = 2 pints

1 gallon = 4 quarts

1 gallon = 3.785 liters
1 liter = 0.264 gallons

1 liter = 1000 cubic centimeters

X 600 2X
30°
X \frg

Updated: July 2018




Key

b =base B = area of base h = height r = radius

1
Triangle A==bh General _
. 2 Prisms V=5h
_ Cylinder
Parallelogram A=bh V=rnrZh

C=2nmr
Circle

A=mrZ

Pyramid V= =Bh

Distance Formula d= (x; = %)%+ (y5 — y1)2

Quadratic Formula —b +Vb?% — 4ac
X =
2a

Updated: July 2018




